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QUESTION 1

A network engineer wants to set the local preference to 100 for the specific BGP community sets of 100:1, 101:1, and
102:1. Which option can the engineer use to implement this through RPL, where the BGP community set list is made by
the name of lowpri-communities? 

A. route-policy ch-pref if community matches lowpri-communities then set local-preference 100 endif end-policy 

B. route-policy ch-pref if community eq lowpri-communities then set local-preference 100 endif end-policy 

C. route-policy ch-pref if community matches-any lowpri-communities then set local-preference 100 endif end-policy 

D. route-policy ch-pref if community neq lowpri-communities then set local-preference 100 endif end-policy 

Correct Answer: C 

 

QUESTION 2

Which option describes how an engineer must configure route summarization on a Cisco IOS XE OSPF-enabled
network of routers? 

A. area range command under the router OSPF process of the ABR 

B. area range command under the router OSPF process of the router wanting to originate the summary route from 

C. summary-address command under the OSPF process of the ABR 

D. summary-address command under the OSPF process of the router wanting to originate the summary route from 

E. network statement for the aggregate address under the router OSPF process on the ABR 

F. network statement for the aggregate address under the router OSPF process of the router wanting to originate the
summary route from 

Correct Answer: A 

 

QUESTION 3

What is defined by using the Cisco IOS XR policy-global configuration command? 

A. the default BGP route policy 

B. global variables that can be referenced by any route policy 

C. the global default route policy 

D. hierarchical route policy 

E. nested route policy 

Correct Answer: B 
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Global Configuration Mode 

Prompt: (config) 

Enter global configuration mode from executive (EXEC) mode by using the configure command. Global configuration
commands generally apply to the whole system rather than just one protocol or interface. You can enter all other 

configuration submodes listed in this section from global configuration mode. 

RP/0/RP0/CPU0:router# configure 

RP/0/RP0/CPU0:router(config)# 

Global Parameter Configuration Mode 

Prompt: (config-rpl-gl) 

Enter global parameter configuration mode by using the policy-global command in global configuration mode. 

In global parameter configuration mode, you can create or modify a global policy by entering successive commands and
then terminating the configuration by entering the end- global command. 

For example, to configure global parameters: 

RP/0/RP0/CPU0:router(config)# policy-global 

RP/0/RP0/CPU0:router(config-rp-gl)# glbpathtype ebgp RP/0/RP0/CPU0:router(config-rp-gl)# glbtag 100 

RP/0/RP0/CPU0:router(config-rp-gl)# end-global 

 

QUESTION 4

An engineer is using configuration blocks to build policy-based routing. All other traffic must not be affected and the
policy must be applied to GigabitEthernet1/0. Which block correctly implements traffic that is destined for 10.10.10.0/24
using a next hop of 192.168.55.1? 

A. access-list 110 permit ip any 10.10.10.0 0.0.0.255 route-map PBR permit 10 match ip address 110 set next-hop
192.168.55.1 interface GigabitEthernet1/0 ip policy route-map PBR 

B. access-list 110 permit ip any 10.10.10.0 0.0.0.255 route-map PBR permit 10 match ip address 110 set next-hop
192.168.55.1 route-map PBR permit 20 interface GigabitEthernet1/0 ip policy route-map PBR 

C. access-list 110 permit ip any 10.10.10.0 255.255.255.0 route-map PBR permit 10 match ip address 110 set next-hop
192.168.55.1 interface GigabitEthernet1/0 ip policy route-map PBR 

D. access-list 110 permit ip any 10.10.10.0 255.255.255.0 route-map PBR permit 10 match ip address 110 set next-hop
192.168.55.1 route-map PBR permit 20 interface GigabitEthernet1/0 ip policy route-map PBR 

Correct Answer: B 

 

QUESTION 5

Refer to the route policies exhibit. 
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Which five route policies will cause the routes to be dropped or passed? (Choose five) 

A. route-policy one will cause the routes to be dropped. 

B. route-policy two will cause the routes to be dropped. 

C. route-policy three will cause the routes to be dropped. 

D. route-policy four will cause the routes to be dropped. 

E. route-policy five will cause the routes to be dropped. 

F. route-policy one will cause the routes to be passed. 

G. route-policy two will cause the routes to be passed. 

H. route-policy three will cause the routes to be passed. 

I. route-policy four will cause the routes to be passed. 

J. route-policy five will cause the routes to be passed. 

Correct Answer: ACEGI 
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